N

)))) eooomc{)e@s

S
9
o

°?

Good Life. Great Mission.

C

C

c

c

2,
o
ee)
g
8
24
(8]
;
=
o

5 6’0705 07//

o
L

c
53205

C

(o}

plgsep

C

¢
ocC
030C

Ut

S
7

C

o _C

00932%()9(‘32(0094273

o
5

C

OODC 32620,

o
5

C

C

c. C
J o

g/mcsc ()97{3)09%()9

o

§ 3280l
o Oe° I

C
CoEl
J

6200 075(8609

Sfgcoo.

63990900906(03

C

C

oCGCI?/DFGDJJ

C

C

C
3’3’2009()9 20

o
5

7{(’0&‘){‘6‘0

c
SC

3
5
T o

P

RS9/

C
58 C 32
T o

P

o
Dil) 32?//03209;,

h

o.
o

JL

C
COGU

C

C

C

C

?/Ds’l ()9723309%()9?/35’/ 0758609

C
o,
o

075660906)0§7S

o
/s

C
Medicaid HCBS DD ccoo

C

o
o
5

e

o
32&)0‘9 O?a (029

Co

20632(0).

n

o JL

&p (CDD) coo

Q
0
L

€

(DDAD) cooo

(Fsw)

o
o

N

eq

C
o
H
C
C

mcC
d

o
o

C
SC 60
<
¥

@ﬁ(’?’ﬂ%gb\')qujo
pod§eas 8
pSi0po1 B8(g

co

006.)83
C

s 0Ce

P

L
C
C
Q

L

Joé
32
B

° O ocC 6 R
§Qgs8Eep e gesqp:

éll

41056k

opSiah (5
P23Q R 078

o
3

cC 9 0
OD00M GGI
L L Ol

AL

C
C

C
?GS(T)

aaeoTsae@éej o

o
3

o3eNcd3069,05
pSNRIOP9P

C]ég

205

[§
o
H

C

goot

C

o
o

<
C

Cg)etﬂ

Gl()

(%3}
&
w
2
oml.
= @O
] m
% &
—
O oo
e o 8 &
og~ owﬂ 3} m
(& O [e)
Y oo ;
& 2 Q) % = 8
s Sa vy 8
3 & € gQ 3
G 3 oo
g oG~ 2 ©Q @ln| oDo
ww °g t%o 8 O OW cmo —
¥ Cm ©Q Yo m 0o S
(@D G
omL cO &) cmu - cw m.. 9
omucmuw._ , mLcB 9 9 &=z Y@
2 55585 8.5 8.8
05 S503% ¢ <9, 5“3
w0 R T8 B gogr 3 T 3
T8 AVL T 8 g€ 2
3 W 2, . o “Q) 8.
S0 3P g b B g
3+ 88 5 & oo ge 8.3,
“O w2 F 3o O 3] € = 0N
£ Pm P& gB.a
£ P2Y wSIDF
- % (DD /- ww ‘8 op-
sl TES @ e8t
B g e R 3 &g & m
B 2 >D%Q) T  BDDS. o
SZ] g u “ o6 ‘8 ‘8 ) =
] = € o S o
= B2 @ 6 8@
hOo m CMM wlu 3] C@|. W\m C&o
ff sl LRRgl
LD SLED T
o “ACD &eg) grCDCDLY
M Mwl mwv Qo oo N N — @
O o3 (%3] m‘avl g= - O LS g (D6
§ 200 § 8T HGDEE
O O B (@3 © © q =
Cw qcc = Cm o YO O B R
LEINETE
2o o oo e
Cﬂ& m CC%& D omwl@ccwr\cq o) m.au
B B LB
8 € §
o 3 «H « ™ 35 5 «
o (S a)

€l

o
o

[y

C
O’)Og?

1

=} . .
© Medicaid © 0

Q [}
()?eGO’)’)CS&?

C
C
i
C
C)Dell

?G%’)

¢

2005 ajjo

20&d)

o
B3

[eop]

Oo oC (°} C C
= ||.8°|.CGT) C\?:?BOQJ(TJ@"’)

0o

3¢ 6’0705‘07// 9‘5}3}&5 gfaﬁ;’wicDD

L

o
o

c . c
?/09329
7

o
c

3206290 (V320
o

o
& V.
PRy
c
?

o
(QV)
L

L

c

qRoguv

CeGUs,
i
c
OGOS]

JL
1y

o,

c

c _C
00C 0756609
[2]
C C

c

;63200 33?/0&320)09?’/3
C
Cs

c ¢ ¢
6329090090609@‘@3
Yy o "326@)
PEUSIPYP?

OfFGSUQC@GO

20pS-

°
o

o
s
IL

q&eéu

ﬁGO:ODCi’Z)

C

ST) O«%G&DC

g6

L

0 O
003
o1

Medicaid

pg- 1

Cr
]

&Je 605’5

n

o

C cocC C
53200000 (2D,

o

c
756())93900[9 ﬁCQJz?SfCGSZ

c
o

oo
3 5)591609905’6’

Pr

o,
o

"

“Laom



C

°eqP

o
H

C
C

C C OocC
@3?8&?&{]’)«?(0: ODO’)&?CGOJ) Gé]

C

8

@‘?O\) 36

Nebraska 3?5%8@@13(7?§§(§ Nebraska @

?’)G]_(ﬂ@éll

g
OmL

(S

¢ cqqpde

Medicaid &C &

C
C

o

C
| 0%39

C

C

©6320C O’)O’)GGPO’)O

<, e} @
m%oqloo(?

¢

C
[_Bomé(mm()g °0%
\ BRPRU%

AL

C C
mgeﬁpm

3q DHHS 20

Io
(o]

C

c0OC

g

o
5

)
[

°
B

o
s

9
i

EX?G)’)%

o
s

:@lcﬂu

°
L

3220

CDHHS?

a“®

o
B

Q o O
qpi dreo

AL

C
C

C:@z DD oéeaoo

2 C
[e]

C C
o QYDGIC

cO: 33@
I L

?GSU)&

[y

Medicaid o

CO o0 C
co OOEGUSOOOD@
s L iL

DD 632q

%GOT@G@

4P 2eg(ogjqp

c _C Q_¢__CM¢C
Gj ot?ooesqurr?aiaao@czl

&)

o
B

C C C
205[ggéepdep

C
SC
179

°
o

o
5

N

c,. 9
q000?°€1

o

°
B

C

G&)’)CO’)’)&{P

o
B

o
N

C 9

33@00('72[) GO
C C
UC§

o

B

o
o

§pod
1 i
<

c
o

e

QOGQAIDMNEIID 3230

5

eooweoq%ecg(q]geo
DHHS 035 =1V
C

C

QO32060200 6OOCG

L

Q

o

¢

Medicaid 0$6500

C
BRI

360

§q§ 7088912551

S C C
[ep]=4] o<?eaooc
io

o

o

oloaronnd ¢
PO 9

5 DD

C

GOJ)C\)@

C

DO C3000:6200

o

o

C
Q GDGlC

qoaé Medicaid o%eaooé =18} 33@ o
I L

C
Oc?3

s8ECloonSi
°T ot
:O;)é 3’32“')

360

ﬁ 661(3]" G(Y_U’)

Co
™M

5 3q) 6o

QM O

AL

Co
JlGO’)’JO'.)Q

C
56300C

960

I

GC\J)LI?GQH

‘?G&?Oé

C

(]

20CD O

o
B

CcQ
U)O)B

L

¢

Y

OO@ O?GGU)C

a0 g

o
o

GO

o
B

o
o

§

&?II

861(;]8

GO

oRecgpeqy

o
B

32000

A.

C

ell

g0l

IL

C C
o Gozeené]oa@u
C C C C
COPY VDD $1,000 @@or]aogu

C
0
[

94
%

CO(TSGOIT\QOD 5
R
C
©320QC332
[¢]

(¢}
S
1

6396613’3
C
(63

25 5
(go5

AL

C
(op]>]

C C o N
CQO0 3?0’)@
o i

ee
e

S(Xﬂé

[y

C
O(DOﬁS
C
()OOO:?

pg. 2

w0
Oml
[%1)
@
2
1)
S

M
)
2
(#=2]
w0

3
-
‘8

<)
D

mln

8
o

2

= 24
(73 cm
B
[() 4
S 8
C

53200000
o

cC _cocC

o
756{).)93900[9 ﬁca)f‘?ceq

'y

c
o

GD2C70

o

o
[
r'1

&

“Laom Gps
oppSevia

o,
o
o,

"



